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Rail services and the rail network in the UK

Britain’s rail services and rail infrastructure used to be run by the government. This all started to
change from 1994 with the first franchising of rail services. Since then, rail demand has continued
to increase with a record number of passengers now using the railways.

In sharp contrast to the situation before 1994, most rail services are now provided by a range

of companies in the private sector, known as train-operating companies. These companies are 5
responsible for day-to-day train services. They do not, however, own the nation’s rail infrastructure.

This is provided by a separate company, Network Rail. As Fig. 1 shows, almost half of train-
operating companies’ revenue goes to Network Rail.

Where train operating companies’ revenue goes

[ Network Rail 48%
[] Staff costs 17%
[]Miscellaneous 17%
[ Leasing trains 11%
[l Fuel/energy 4%

Profit 3%

Fig. 1
Despite the growing importance of the private sector in the rail industry, the public sector still has
an important role in regulating rail services and also in undertaking major transport infrastructure 70
projects.

The following extract from a Department for Transport document outlines some of the
government’s plans for the rail industry.
‘Expanding and improving the rail network’

Rail is vital to the UK’s economic prosperity.
In addition, encouraging people to use trains rather than cars reduces carbon emissions. 15
Actions:
* Regulating some fares: the government regulates the existence and price of a number of

rail fares. The government restricts the amount by which train operators can increase some

fares each year.

e Upgrading rail tracks and stations: increasing train capacity with, for example, £240 million of 20
improvements along the East Coast Main Line.

*  Electrifying important routes: by 2020, around three-quarters of all rail passenger miles will
be by electric train. This should lower CO, emissions, change journey times and reduce
operating costs.

e Crossrail: a new railway running east to west through tunnels under London. 25
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SECTION A

Answer all parts of the question in this section.

1 (a) Explain the difference between fixed and variable costs, using one example of each from
Fig. 1.
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(c) Explain why two of the government’s proposed actions (lines 17 to 25) may encourage people
to use trains rather than cars.
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(e) Discuss whether or not there should be monopoly provision of rail infrastructure in the UK.[8]
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SECTION B

Answer one question.
(a) Explain, using a diagram, how the profit earned by a firm is influenced by the relationship
between its marginal cost and its marginal revenue. [15]
(b) Discuss, using examples, the extent to which the market dominance of a monopoly provider
of transport infrastructure will result in economic inefficiency. [20]
(a) Analyse the differences between monopolistic competition and oligopoly market structures in
transport. [15]
(b) Discuss the extent to which air travel could be considered to be a sustainable mode of
transport. [20]
(@) Analyse the economic effects of an increase in the demand for road transport on the

environment. [15]

(b) Discuss the effectiveness of different policies implemented to deal with the problems caused
by increased road transport use in urban areas. [20]

©OCR 2016



SECTION B
Question No. ............

Start your answer to part (a) here.
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Start your answer to part (b) here.
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END OF QUESTION PAPER
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ADDITIONAL ANSWER SPACE

If additional space is required, you should use the following lined page(s). The question number(s)
must be clearly shown in the margin(s).
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